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. - 6.7 L 85
Bk 1 = P (108) ha =8k g (15.0) ha JKH. dtER =]
Era= 3 2 LHHAR EERE| 145 ha |tHAAR ££2E| 250 ha |[7KH 5
REE 3 =NDC ha |EDZ ha |7KH 5
e 1.1 16 KH. dLEB. B ER
=3 8 5 & b & g8 . . .
n:ub?z/f 4 EH}E (218) ha EH’E (350) ha ﬁ%ﬁ ﬁ
5 B 0.4 ha |BF3 1.0 ha |7KHE B
B 6 BHIEE 3.0 ha |EEHIIEE 40 ha |7KH 5
7 HEOKRE+HE) 3.3 ha |BP3 40 ha |7KH =]
8 A KR+ E+532) 1.4 ha g8 OkE+E+5%) 1.4 ha [7KH =)
- 12.3 14.9
=3 g8 & KT+ B3 + 24 & OKTE+ B E+ 24 E
B 9 A KR+ TR+ 248D (15.4) ha |gaokm+B2+28) (19.3) ha [7KH. dtER =)
10 WA OKEE+ FERTES) 3.0 ha /K& 0.7 ha |7KH "
£ g8 11 A OKTR+ IR HR) z.oh A OKTE+IERE ) Z'Oh JKH. dtER )
ity = (23) a (23) a N A
12 B 0.2 ha |24 5.0 ha |7KH 5
13 HEOKRE+HE) 14 ha | - ha "
14 A KR+ H%) 10 ha |8 OKkE+%H%) 1.5 ha |7KHE 5
15 B 1.5 ha |B73E 3.0 ha |7KH 5
VN o 7 = 0.2 VN oo 7 = 03 v d
16 A KRR+ HE) ha |8 kiE+H%) ha |7KH. FEEB =]
(1.5) (2.0)
Ero ] 17 WA KB+ E+53) 1.8 ha [gaokE+2+5%) 2.0 ha |7KH "
e 18 EZHMIEE 1.2 ha |EHTEE 1.2 ha |7KHE 5
s 19 #A OKE+IERSH) 1.6 ha |[E8 OkE+ERSR) 1.6 ha |7KH ¥
g2y} 20 A OKE+IERTES) 45 ha |E& OkiE+mBEs) 5.0 ha [7KH "
e 21 HE O+ HE) 7.8 ha |8 OkiE+5%) 7.8 ha (/KA =]
22 HEOKRE+HE) 1.1 ha |8 OkE+H%) 1.5 ha |7KHE =]
23 B OKTR+E3) 0.6 ha |#& OkIE+5%) 0.6 ha |7KH ¥ =)
RE 24 HEERTEE 0.3 ha |IEERIEE 0.5 ha |7KH 5
ZE 25 HEOKRE+HE) 5.9 ha [E& KB+5HZ) 8.0 ha |7kH =]
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BREMEE |RE@EE| BEAFE |REEE | EXTECEHE (&
e 26 A OB+ BHER) 2.7 ha |#E& OKFE+%H35) 6.0 ha |7KH A
- 0.4
. 5.4 . 5.4
e & OKTE+2 0+ B4 & OKFE 5 #
=2y 28 ek zoz R | oo ha |8 OKRE+RAE) | ) ha JKH. FEEh e}
29 A OB+ BHER) 0.2 ha |[#8& KFE+HE) 0.2 ha |7KH A
30 HE UK+ BHR) 0.7 ha |E& OkE+HH) 0.7 ha |7KH e}
31 EE OKTE+BR) (21,0,';” ha [E& (KIE+HE) (1%? ha |7KH. JL&p s}
32 A OB+ BHER) (2_10'? ha |#& OKFE+%3%) (097'? ha |7KH. &R A
33 A KT+ BHR) 0.9 ha |#E& CkE+HH) 1.0 ha [7KH e}
34 HE KT+ E+55) 0'4h HE KR+ E+BHR) 0'4h JKHE.,dLER. FE | H
(0.9) e (0.9) e ~ ALER TR
- ] 14 o 14
S 35 BEOKREETS) | )4 ha [BACKEESES) | O ha |[KE. dLED 5
R N 4.2 N 75, |/KA. AR, BER.
R 36 BECGKRBR) | (o) ha [BEOKRHHR | (o005 ha | 3 T F
R 0.1 0.1 KH. JLER. FER
3 g8 ] t . . .
38 8 KR+ 2+ HR) 2.2 ha |#E& OKFE+%H35) 0.3 ha |7/KH A
= U 2.0 ;e r e 5.0 -
] 39 BECKRE+HRED | o) ha [BEOKE+HRED [ ) ha JKH. 5B =]
e 40 B8 KRB+ BE+ 28 5.3 ha |[#&OkmE+%5+ 84D 6.0 ha |7KH A
RE 41 #A OKTB+ RS 2.2 ha |88 OKTE+EHRER) 2.5 ha [7KH =)
49 WA OKE+E+55) 25 ha |gexm+z+852 0.6 ha [7KH =)
43 A O+ E+55) 1.9 ha |[#E&0KE+E+HR) 1.5 ha |7/KH =)
44 #A K+ E+BR) 2.2 ha |E&OKE+E+BE) 2.0 ha |7kKH =)
= e U 5.7 ot 2.6 "
ZE 45 EEOKR+RED | oo ha [MEOKRE+HRED | ) ha JKH. 5
46 HAECKRE+Z+5R) | 170 ha [EEOKE+E+HR) | 255 ha |7KH A
47 WA CKE+E+ AT+ 13.0 ha |[Eeokm+z+xz+2® 14.4 ha |7KH ¥
48 A OKTE+ RS 1.0h A KRR+ Bk TES) 1'0h JKH. JLER )
(1.4) @ (14) M ~AvR
RE 49 HEOKRE+BR) | 12.2 ha [EEOKE+HH | 200 ha [7KHA e}
50 A OKE+BHER) 6.8 ha |EAUKE+%H3) | 10.0 ha |[7KH A
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51 8 KR+ B R+ 268 0.5 ha |[E&OkE+SR+248) 0.5 ha |7KH ¥
52 e KR+ B R+ 28 1.7 ha |[#E&0kE+BHE+248) 1.7 ha |7KH 5
53 Frx 0.4 ha P 0.4 ha |7KH =]
e 54 HA KB+ BE+EOD) 1.2 ha [ okE+BR+200) 1.2 ha |7KH )
sngs 55 A (BR+ERED) 1.7 ha |g8 ®z+EzES) 1.7 ha |7KH ¥
56 WA OKE+E+5R) 1.6 ha |7KF# 1.2 ha |7KHE 5
£ 57 waokmrsn | 10 lesokmrme | %8 na k@, e b | &
o = (=] (17.4) a = (20.0) a N AP A
58 B ORI+ HE) 0.7 ha |E& kTE+5HH) 0.7 ha |7KH 5
59 A O+ B2+ 24 104 4 lge okis+ B3) 03 1 [k P41 e}
(1.4) N2 &= (0.4) M@ ~ ALH
60 e KRR | 113'; ha |[#& OKTE+ 24 (1%; ha |7KH. B A
61 Frx 0.1 ha |BF3 0.1 ha [7KH 5
62 HE KR+ HER) 1.0 ha |8 OkE+B%) 1.5 ha |7kKE =]
63 WA KT+ BE) (113'; ha [&8 kiE+B%) (113'; ha [7KE. L83 i | &
64 BE OKFE+BHR) 3.0 ha & OKFE+F %) 40 ha |7KH ¥
65 EE OKFR+5 %) 1.2 ha & OKE+EH %) 1.2 ha [7KH =]
66 waokimme | % lmeokimsn | %0 ha k@, b 5
= (07) a (=) H (08) a ~ A
67 BE OKFE+BHR) 1.6 ha |8 OKFE+E %) 2.0 ha |7KH "
~ g 0.6 ~ I 0.6 & &
68 BE OKFE+BHR) (1.0) ha BEE OKTE+E %) (10) ha JKHE. L&, & | H
69 e - ha |BF3E 1.0 ha [7KH =]
70 KB 15 ha |7KF&E 20 ha |7kKH ¥ =)
F5E 71 JKFE 0.8 ha |7/K#E 20 ha |7KA =1
72 7K 0.4 ha |7/K¥E 0.5 ha [7KHA ¥ =)
=t 2N 2318 ha 255.2 ha
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